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Hence the diagonals are perpendicular. 

 

Q2a  Let R  newtons be the reaction force. 

2.1208.920 ×=×−R , 220=R  
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 be the acceleration. 

a208.920166 =×− , 5.1−=a  

The downward acceleration is 5.1  m s
-2

. 

 

Q3a  ( ) ( ) k
~

5j
~

2i
~

34r
~

−+−= ttt&  

( ) ( ) c~k
~
 5j

~
 i

~
 32r~ 22 +−+−= ttttt  

( ) k
~
 2i

~
c~0r~ −== , .: ( ) ( ) ( ) k

~
 25j

~
 i

~
 132r~ 22 +−++−= ttttt  

When 2=t , ( ) k
~
 12j

~
4i

~
 32r~ −+=  

( ) ( ) 1312432r~
222 =−++=  

The distance from the origin 13=  metres 
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The solutions are: i2− , i+± 3  
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Q7b  Sketch the graphs of ( )2xcosec=y  and ( )xcosec=y . 
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Q8d  Area of the required region = area of the shaded region 
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